	ı	BID A	WARDED TO SALLS BROT	HER	S CON	ISTRUCTION	ON, INC ON 1	THE BASE B	BID						
BID 1	ABULA	TION S	UMMARY BASED ON ADDENDUM 1	- U	NIT PRIC	E BID PROPO	SAL FOR: LOMIT	AS NEGRAS PH	ASE 2			Bid Opening 12-			
Sout	hern Sar	ndoval C	County Arroyo Flood Control Authority			Pat updated	21-Dec-18								
			Engineer - Smith Engineering Company			Engine	ers Estimate	J & H Se	ervices, Inc.	El Terrero C	onstruction, LLC	First Mark Construction		Salls Brothers	Construction Inc.
BID ITEN		BUILD / PAY ITEM NUMBER		UNIT	EST. QUANTITY	Eng. Est. UNIT COST	Eng. Est. AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
UNIT COST		1200	Construction Traffic Control and Barricading: including any and all access signs and permitting by the City of Rio Rancho, Complete	LS	1	60,000.00	60,000.00	31,800.00	31,800.00	12,000.00	12,000.00	168,121.40	168,121.40	3,253.40	3,253.40
0.00		1504	Temporary Pollution Control: NPDES and SWPPP Preparation and Maintenance, Complete	LS	1	40,000.00	40,000.00	10,900.00	10,900.00	4,500.00	4,500.00	90,000.00	90,000.00	2,856.50	2,856.50
0.00		1505	Control of Storm Water and Nuisance Flow: C.I.P	LS	1	20,000.00	20,000.00	81,000.00	81,000.00	3,000.00	3,000.00	80,000.00	80,000.00	16,835.10	16,835.10
0.00		1506	Construction Staking: Complete	LS	1	75,000.00	75,000.00	53,200.00	53,200.00	90,000.00	90,000.00	65,000.00	65,000.00	42,684.80	42,684.80
0.00		1508	Project Record Documents: Complete Project Signs: Place at designations by SSCAFCA at	LS	1	4,000.00	4,000.00	10,200.00	10,200.00	750.00	750.00	5,000.00	5,000.00	4,146.60	4,146.60
0.00		1510	beginning of project and R&D after project finish, Complete	EA	2	650.00	1,300.00	800.00	1,600.00	1,000.00	2,000.00	250.00	500.00	475.00	950.00
0.00		1510.1	Sign Remove and Replace: Existing roadway signs (2) along Obregon Rd. (south side), remove, store and replace, C.I.P.	EA	2	600.00	1,200.00	340.00	680.00	500.00	1,000.00	400.00	800.00	292.80	585.60
0.00		201	Clearing and Grubbing: clearing and grubbing including haul and disposal, dust abatement is required and incidental, Complete	ACRE	37	1,500.00	55,500.00	3,100.00	114,700.00	600.00	22,200.00	3,800.00	140,600.00	878.50	32,504.50
0.00		202	Excavation and Rough Grading: Excavation and rough grading to within 6-inches of finish grades on plans. Haul and dispose of excess soils off-site to SSCAFCA designated location within 6 mi radius included, compaction not required, dust abatement is required and incidental. Complete	CY	280,582	3.50	982,037.00	2.70	757,571.40	3.50	982,037.00	3.30	925,920.60	1.90	533,105.80
0.00	1	204	Fill Construction: Fill soil material for NE side of N. Trib. Arroyo west of access road, when obtained from within the limits of construction, includes, subgrade preparation, blending / mixing to obtain homogeneous material / construction in lifts, rough and final grading, dust abatement is required and incidental, C.I.P.	СҮ	850	7.00	5,950.00	7.80	6,630.00	11.00	9,350.00	2.88	2,448.00	1.80	1,530.00
0.00		204	Fill Construction: Fill soil material, when obtained from within the limits of construction, includes, subgrade preparation, blending / mixing to obtain homogeneous material / construction in lifts, rough and final grading, dust abatement is required and incidental, C.I.P.	СҮ	11,865	7.00	83,055.00	7.80	92,547.00	15.00	177,975.00	3.00	35,595.00	1.80	21,357.00
0.00	1	513	Soil Cement: North Side of North Tributary Arroyo west of Maint. Access Rd., Construct soil cement structures with on-site soils as aggregate including excavation, subgrade preparation, and backfill, C.I.P.	CY	777	85.00	66,045.00	121.00	94,017.00	80.00	62,160.00	100.00	77,700.00	69.70	54,156.90
0.00	1	509	Cement: Portland Cement (12% minimum) Type II-LA for Soil Cement, North Side of North Tributary Arroyo, Complete	TON	179	175.00	31,274.25	175.00	31,274.25	190.00	33,954.90	175.00	31,274.25	212.10	37,904.39

			JMMARY BASED ON ADDENDUM 1	- U	NIT PRIC		SAL FOR: LOMIT	AS NEGRAS PH	IASE 2	Bid Opening 12-20-18								
South	nern Sar	ndoval C	ounty Arroyo Flood Control Authority			Pat updated	21-Dec-18											
			Engineer - Smith Engineering Company			Enginee	ers Estimate	J & H Se	J & H Services, Inc.		onstruction, LLC	First Mark Construction		Salls Brothers Construction Inc				
BID ITEM Number	Alternate #	BUILD / PAY ITEM NUMBER	ITEM DESCRIPTION Complete in Place = C.I.P.	UNIT	EST. QUANTITY	Eng. Est. UNIT COST	Eng. Est. AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT			
0.00	2	513	Soil Cement: South Side of Main Arroyo west of Saratoga Rd. to the Flow Diversion Wall, Construct soil cement structures with on-site soils as aggregate including excavation, subgrade preparation, and backfill, C.I.P.	CY	2,605	85.00	221,425.00	120.00	312,600.00	80.00	208,400.00	100.00	260,500.00	68.90	179,484.50			
0.00	2	509	Cement: Portland Cement (12% minimum) Type II-LA for Soil Cement, South Side of Main Arroyo from Box Culverts at Saratoga to Flow Diversion Wall, Complete	TON	599	175.00	104,851.25	175.00	104,851.25	190.00	113,838.50	175.00	104,851.25	212.10	127,079.72			
0.00			Soil Cement: Construct soil cement structures with on- site soils as aggregate including excavation, subgrade preparation, and backfill, C.I.P.	СҮ	11,145	85.00	947,325.00	121.00	1,348,545.00	80.00	891,600.00	298.00	3,321,210.00	65.00	724,425.00			
0.00		509	Cement: Portland Cement (12% minimum) Type II-LA for Soil Cement, Complete	TON	2,552	175.00	446,600.00	175.00	446,600.00	190.00	484,880.00	236.00	602,272.00	212.10	541,279.20			
0.00			Structural Concrete Class A: Structural RPCC, 4,000 psi, including excavation, subgrade prep, engineered fill, backfill, formwork, includes rebar, C.I.P.	СҮ	245	775.00	189,875.00	934.00	228,830.00	725.00	177,625.00	700.00	171,500.00	538.90	132,030.50			
0.00		301	Subgrade Preparation: 12" at 95% compaction, C.I.P.	SY	668	3.50	2,338.00	4.70	3,139.60	4.00	2,672.00	2.50	1,670.00	5.80	3,874.40			
0.00		541200	Structural Steel for Miscellaneous Structures: grate and steel support beam, includes all materials and labor, C.I.P.	LS	1	4,000.00	4,000.00	17,300.00	17,300.00	5,000.00	5,000.00	58,000.00	58,000.00	6,965.90	6,965.90			
0.00		541200	Structural Steel for Miscellaneous Structures: install steel sediment stage marker post, includes all materials, labor, C.I.P.	LBS	3,546	2.05	7,269.30	12.00	42,552.00	4.00	14,184.00	12.00	42,552.00	8.10	28,722.60			
0.00		602010	Rip-Rap Class B: includes riprap, non-woven filter fabric and placement, C.I.P.	CY	1,673	150.00	250,950.00	104.00	173,992.00	130.00	217,490.00	97.00	162,281.00	87.30	146,052.90			
0.00			Rip-Rap Class C: Both Sides of Energy Dissipation Chute, and Below Energy Dissiption Final Step, includes riprap, non-woven filter fabric and placement, C.I.P.	СҮ	204	180.00	36,720.00	106.00	21,624.00	110.00	22,440.00	84.00	17,136.00	87.20	17,788.80			
0.00		570.1	Storm Sewer Pipe Installations: Principal Spillway 36- inch Smooth interior corrugated pipe, includes material, C.I.P. (joints must maintain min. 10.8 psi pressure for a min. of 10 minutes), Contech UltraFlo Pipe or approved equal	LF	284	108.00	30,672.00	61.00	17,324.00	95.00	26,980.00	50.00	14,200.00	58.20	16,528.80			
0.00		701.1	Trenching, Excavation and Backfill: Principal Spillway Trenching, Backfilling and Compaction, for 18" - 36" diameter drain, up to 8' in depth, pipe not incl., Complete	LF	284	27.50	7,810.00	35.00	9,940.00	55.00	15,620.00	90.00	25,560.00	33.90	9,627.60			

			JMMARY BASED ON ADDENDUM 1	- U	NIT PRIC		SAL FOR: LOMIT	AS NEGRAS PH	IASE 2			Bid Opening 12-	20-18		
South	iern Sar	ndovai C	ounty Arroyo Flood Control Authority			Pat updated				-1-				0 11 5 11	
			Engineer - Smith Engineering Company			Enginee	ers Estimate	J & H Se	ervices, Inc.	El Terrero C	onstruction, LLC	First Mark	Construction	Salls Brothers	Construction Inc.
BID ITEM Number	Alternate #	BUILD / PAY ITEM NUMBER	ITEM DESCRIPTION Complete in Place = C.I.P.	UNIT	EST. QUANTITY	Eng. Est. UNIT COST	Eng. Est. AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
0.00		570.2	Storm Sewer Pipe Installations: Obregon Rd. 42-inchSmooth interior corrugated pipe, includes material, C.I.P. (joints must maintain 10.8 psi pressure for a min. of 10 minutes), Contech UltraFlow pipe or approved equal	LF	717	126.00	90,342.00	80.00	57,360.00	110.00	78,870.00	65.00	46,605.00	62.80	45,027.60
0.00		701.2	Trenching, Excavation and Backfill: Obregon Storm Drain Trenching, Backfilling and Compaction, for 42" - 60" diameter drain, up to 8' in depth, pipe not incl., Complete	LF	717	28.59	20,499.03	39.00	27,963.00	40.00	28,680.00	110.00	78,870.00	39.40	28,249.80
0.00			Excavation, Backfill and Compaction for Manhole Type C - 6 Ft. Diameter: Obregon Storm Drain Manhole, 6' dia., Type "C", 10 ft -to 14 ft deep, Complete	EA	1	1,000.00	1,000.00	6,971.00	6,971.00	4,000.00	4,000.00	11,000.00	11,000.00	2,363.30	2,363.30
0.00		660.042	Excavation, Backfill and Compaction for Manhole Type C - 8 Ft. Diameter: Obregon Storm Drain Manhole, 8' dia., Type "C", 6 ft to 10 ft deep, Complete	EA	1	500.00	500.00	6,971.00	6,971.00	5,000.00	5,000.00	16,000.00	16,000.00	1,772.50	1,772.50
0.00		662024	Manhole Type C - 6 Ft. Diameter: Obregon Storm Drain Manhole, 6' dia., Type "C", 10 ft -to 14 ft deep, Complete, Contech UltraFlow or approved equal	EA	1	4,075.48	4,075.48	9,285.00	9,285.00	16,000.00	16,000.00	9,500.00	9,500.00	8,596.20	8,596.20
0.00			Manhole Type C - 8 Ft. Diameter: Obregon Storm Drain Manhole, 8' dia., Type "C", 6 ft to 10 ft deep, Complete, Contech UltraFlow or approved equal	EA	1	6,500.00	6,500.00	23,592.00	23,592.00	22,000.00	22,000.00	16,000.00	16,000.00	11,977.30	11,977.30
0.00		410.6.4	Metal Pipe Access Control Gate: Pipe Gate, 16' wide, C.I.P.	EA	1	6,500.00	6,500.00	2,400.00	2,400.00	3,000.00	3,000.00	4,000.00	4,000.00	2,082.20	2,082.20
0.00		410	Wood Posts: Twisted 5 Strand Barbless Wire Fence, fence including wood posts, mortises and concrete, C.I.P.	LF	4,312	7.00	30,184.00	12.00	51,744.00	14.00	60,368.00	10.00	43,120.00	10.10	43,551.20
0.00		410.1	Steel Posts: Twisted 5 strand barbless wire fence: includes wire, 4 in. dia. SCH 40 A53 Grade B steel pipe, mortises, 7 ft long, 4 in. steel caps, welding, concrete, paint, all materials and labor, C.I.P.	LF	1,722	17.00	29,274.00	29.00	49,938.00	16.00	27,552.00	41.00	70,602.00	24.40	42,016.80
0.00		662.1	Storm Drain Pyramid Structure, C.I.P., StormRax or approved equal	EA	1	5,000.00	5,000.00	29,485.00	29,485.00	2,000.00	2,000.00	20,000.00	20,000.00	13,485.80	13,485.80
0.00		302	Aggregate Base Course: Pond Access Road, includes furnishing, placement and compaction of aggregate base course, C.I.P.	SY	1,797	7.00	12,579.00	11.50	20,665.50	15.00	26,955.00	9.00	16,173.00	8.80	15,813.60
0.00			Remove and Dispose Storm Drain: Remove and dispose existing Obregon Rd. storm drain, outfall concrete structure and appurtenances, includes haul and disposal fee. Complete.	LS	1	5,000.00	5,000.00	4,942.00	4,942.00	8,000.00	8,000.00	45,000.00	45,000.00	6,088.20	6,088.20
0.00		607.2.3.1	Chain Link Fence: Saratoga Box Culverts upstream wingwalls: Build 5 ft tall fence, includes posts, rails, fasteners. C.I.P.	LF	32	10.00	320.00	87.00	2,784.00	150.00	4,800.00	55.00	1,760.00	75.20	2,406.40

BID T	ABULA	TION SU	JMMARY BASED ON ADDENDUM 1	- U	NIT PRIC	E BID PROPOS	SAL FOR: LOMIT	AS NEGRAS PH	ASE 2			Bid Opening 12-2	20-18		
South	nern San	ndoval C	ounty Arroyo Flood Control Authority			Pat updated	21-Dec-18								
			Engineer - Smith Engineering Company			Enginee	ers Estimate	J & H Se	ervices, Inc.	El Terrero C	onstruction, LLC	First Mark	Construction	Salls Brothers	Construction Inc.
BID ITEM Number	Alternate #	BUILD / PAY ITEM NUMBER	ITEM DESCRIPTION Complete in Place = C.I.P.	UNIT	EST. QUANTITY	Eng. Est. UNIT COST	Eng. Est. AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
0.00		407.2.2	Remove and Dispose Chain Link Fence: Saratoga Box Culverts upstream wingwalls (Remove and Dispose of existing fence & posts incidental), includes posts, rails, fasteners. C.I.P.	LF	32	4.00	128.00	8.00	256.00	12.00	384.00	25.00	800.00	27.40	876.80
0.00		1509.1	Remove and Dispose Wire Enclosed Riprap: Remove and dispose existing wire enclosed riprap and appurtenances at Saratoga Box culverts upstream wingwalls, includes haul and disposal fee. Stockpile stones and reuse at Channel 6 per plans. Complete.	LS	1	2,500.00	2,500.00	4,128.00	4,128.00	1,000.00	1,000.00	3,500.00	3,500.00	2,892.90	2,892.90
0.00		1506.1	Access control fencing around archeological site including remove and dispose after project is completed, Complete	LF	100	3.00	300.00	12.00	1,200.00	15.00	1,500.00	10.00	1,000.00	10.50	1,050.00
0.00		905	SAS Cleanout Adjustments: Elevate 7 - 4-inch diameter PVC Pipe SAS cleanouts. Includes 4-inch PVC Sched. 40 pipes, 4-inch caps, appertenances, 24-inch x 24-inch x 4-inch concrete pads. Includes all materials, labor. C.I.P.	LS	1	2,800.00	2,800.00	5,947.00	5,947.00	4,000.00	4,000.00	15,000.00	15,000.00	3,690.00	3,690.00
0.00		1512	Weep Holes for lateral weir / energy dissipation strucure: 3-inch PVC pipe Schedule 40, 3/4 inch crushed gravel, non-woven geotextile fabric, metal screen (1/4 inch X 1/4 inch openings)	LS	1	1,000.00	1,000.00	12,961.00	12,961.00	1,000.00	1,000.00	11,000.00	11,000.00	3,238.90	3,238.90
0.00		2250	Stationary Steel Posts: Includes 4 in. dia. SCH. 40 A53 Grade B steel pipe, 5 ft. 2 in. long, cement, paint, bolts and nuts, 4 in. steel caps, all materials and labor, (Lateral Weir and Emergency Spillway). C.I.P.	EA	24	83.00	1,992.00	1,684.00	40,416.00	75.00	1,800.00	490.00	11,760.00	1,138.70	27,328.80
0.00			Steel Cable: Includes 1 / 2 in. dia. steel cable, bolts and nuts, metal cable alert signs, all materials and labor. C.I.P.	LF	530	3.50	1,855.00	30.00	15,900.00	5.00	2,650.00	19.00	10,070.00	26.20	13,886.00
0.00			Native Grass Seeding: Seed (Hydro Seed) all slopes and over bank disturbed areas, soil amendments and fertilizer not required, C.I.P.	ACRE	19	2,500.00	47,500.00	2,529.00	48,051.00	2,000.00	38,000.00	1,344.00	25,536.00	2,194.10	41,687.90
0.00		1012.6.2.3	Seeding with Gravel Mulch: includes soil preparation, install 2-inch thick gravel and seed, soil amendments and fertilizer not required. C.I.P.	ACRE	4.5	15,000.00	67,500.00	17,563.00	79,033.50	21,000.00	94,500.00	19,980.00	89,910.00	15,239.00	68,575.50
0.00	OBREGON		RB AND GUTTER												
		343	Removed and Dispose Existing Asphalt Pavement: Obregon Road existing pavement, asphalt concrete, sawcut, remove & dispose, any thickness, Complete	SY	243	10.00	2,430.00	3.90	947.70	6.00	1,458.00	12.00	2,916.00	18.30	4,446.90
0.00		340	Curb and Gutter: Obregon Road Curb & Gutter, standard, Portland Cement concrete, incl. subgrade preparation, C.I.P.	LF	875	22.00	19,250.00	36.50	31,937.50	30.00	26,250.00	18.00	15,750.00	18.80	16,450.00

			JMMARY BASED ON ADDENDUM 1	- U	NIT PRIC		SAL FOR: LOMIT	AS NEGRAS PH	ASE 2			Bid Opening 12-2	20-18		
South	hern San	ndoval C	ounty Arroyo Flood Control Authority			Pat updated									
			Engineer - Smith Engineering Company			Enginee	ers Estimate	J & H Se	ervices, Inc.	El Terrero C	onstruction, LLC	First Mark	Construction	Salls Brothers	Construction Inc.
BID ITEM Number	· Δiternate #	BUILD / PAY ITEM NUMBER	ITEM DESCRIPTION Complete in Place = C.I.P.	UNIT	EST. QUANTITY	Eng. Est. UNIT COST	Eng. Est. AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
0.00	OBREGON	N ROAD RIP	RAP RUNDOWN												
		602020	Rip-Rap Class C: Obregon Road Rundown, includes riprap, non-woven filter fabric and placement, C.I.P.	СҮ	98	180	17,640.00	106	10,388.00	100	9,800.00	121	11,858.00	126	12,348.00
0			Fill Construction: Fill soil material for Obregon Rd. Rundown channel construction in lifts, rough and final grading to rundown invert elevations, C.I.P.	CY	143	7.00	1,001.00	19.50	2,788.50	18.00	2,574.00	3.00	429.00	4.90	700.70
0.00	SARATOG	GA ROAD - D	DRAINAGE IMPROVEMENTS (Smith Engineering Desig	jn)											
		301	Subgrade Preparation: Saratoga Road Subgrade Prep. for roads, 12" at 95% compaction, C.I.P.	SY	40	3.50	140.00	4.70	188.00	10.00	400.00	12.00	480.00	10.20	408.00
0.00		302	Saratoga Road Aggregate base course for roads, 6" at 95% compaction, C.I.P.	SY	40	7.00	280.00	14.70	588.00	20.00	800.00	9.00	360.00	29.20	1,168.00
0.00		343	Removed and Dispose Existing Asphalt Pavement: Saratoga Rd. Road Existing Pavement, Asphalt Concrete, sawcut, remove & dispose, any thickness, Complete	SY	40	7.00	280.00	3.90	156.00	20.00	800.00	15.00	600.00	16.40	656.00
0.00			Saratoga Road Arterial Asphalt Concrete, Type SP III, 3 inch thick, (Striping is incidental) C.I.P.	SY	40	25.00	1,000.00	21.70	868.00	60.00	2,400.00	50.00	2,000.00	93.80	3,752.00
0.00		336	Saratoga Road - Asphalt Concrete Drainage Swales, Type SP III, 3 inch thick, C.I.P.	SY	215	25.00	5,375.00	22.30	4,794.50	60.00	12,900.00	80.00	17,200.00	40.00	8,600.00
0.00		341	341 Saratoga Road - Extruded Asphalt Curb, C.I.P. LF 145 25.00 3,625.00		19.20	2,784.00	30.00	4,350.00	20.00	2,900.00	11.60	1,682.00			
0.00	SARATOGA	A ROAD DIP S	ROAD DIP SECTION, RUNDOWN and BOX CULVERT IMPROVEMENTS (Wilson & Company P		ns 11-26-18)										
		202	Excavation and Rough Grading: Excavation and rough grading to within 6-inches of finish grades on plans. Haul and dispose of excess soils off-site to SSCAFCA designated location within 6 mi radius included, compaction not required, dust abatement is required and incidental. Complete (NM Std. Spec. 202)	СҮ	100	8.40	840.00	15.60	1,560.00	9.00	900.00	3.00	300.00	11.70	1,170.00
0.00		343	Sawcut Asphalt Pavement	LF	80	3.25	260.00	7.60	608.00	3.00	240.00	5.00	400.00	3.20	256.00
0.00		343	Removed and Dispose Existing Asphalt Pavement: Saratoga Rd. Road existing pavement at proposed concrete valley gutter and at existing drainage rundown east of Saratoga Rd., asphalt concrete, sawcut, remove & dispose, any thickness, Complete (NM Std. Spec. 343)	SY	205	3.25	666.25	3.90	799.50	20.00	4,100.00	7.00	1,435.00	12.80	2,624.00
0.00			Subgrade Preparation: All areas - Subgrade Prep. Under concrete valley gutter for roads, 12" at 95% compaction, C.I.P. (NM Std. Spec. 301)	SY	185	10.00	1,850.00	4.70	869.50	6.00	1,110.00	15.00	2,775.00	19.60	3,626.00
0.00		302	Aggregate base course for roads, 6" at 95% compaction, C.I.P.	CY	65	60.00	3,900.00	75.80	4,927.00	50.00	3,250.00	105.00	6,825.00	50.40	3,276.00
0.00		336.1	Asphalt Concrete Drainage Swale, Type SP III, 1-3 inch thick, Machine Laydown, C.I.P.	SY	80	25.00	2,000.00	22.30	1,784.00	30.00	2,400.00	80.00	6,400.00	51.10	4,088.00
0.00		336.2	Asphalt Concrete Drainage Swale, Type SP III, 2-2 inch thick, Machine Laydown, C.I.P.	SY	85	30.00	2,550.00	28.80	2,448.00	30.00	2,550.00	80.00	6,800.00	61.80	5,253.00
0.00		340.2	Curb and Gutter, Standard: Portland Cement concrete, incl. subgrade preparation, C.I.P.	LF	10	22.00	220.00	37.50	375.00	20.00	200.00	40.00	400.00	122.50	1,225.00
0.00		340.1	Header Curb, Portland Cement Concrete, incl. subgrade prep. C.I. P.	LF	75	23.40	1,755.00	32.10	2,407.50	30.00	2,250.00	30.00	2,250.00	21.90	1,642.50
0.00		101.2	Reinforced Concrete Drainage Rundown from Saratoga Rd. to box culvert, incl. rebar, subgrade prep, C.I.P. (NM Std. Specs. 101 & 602 & Std. Dwg. 2260 - "Type B" 10-ft bot. width, 1 ft deep)	CY	30	710.00	21,300.00	594.00	17,820.00	700.00	21,000.00	500.00	15,000.00	284.70	8,541.00

RID T	ΆΒΙΙΙ Δ	TION SI	JMMARY BASED ON ADDENDUM 1	- U	NIT PRIC	F BID PROPO	SAL FOR: LOMITA	S NEGRAS PH	ΔSF 2			Bid Opening 12	2-20-18		
			ounty Arroyo Flood Control Authority			Pat updated	_		AGE Z			Dia opening in	2010		
			Engineer - Smith Engineering Company			Engine	ers Estimate	J & H Se	ervices, Inc.	El Terrero Co	onstruction, LLC	First Ma	ırk Construction	Salls Brothers	Construction Inc.
	Deductive Alternate #	BUILD / PAY ITEM NUMBER	ITEM DESCRIPTION Complete in Place = C.I.P.	UNIT	EST. QUANTITY	Eng. Est. UNIT COST	Eng. Est. AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
0.00		101.1	Build Concrete Valley Gutter in Saratoga Rd Unreinforced concrete, (Striping is incidental) Complete (NM Std. Spec. Sect. 101)	СҮ	20	710.00	14,200.00	549.00	10,980.00	500.00	10,000.00	500.00	10,000.00	287.40	5,748.00
0.00			SUB-TOTAL FOR ALL BID ITEMS above				\$ 4,113,107.56		\$ 4,615,429.20		\$ 4,123,447.40		\$ 7,058,975.50		\$ 3,160,049.31
1		1503	Mobilization: Compl., Not to exceed 5% of the sub-total for Items 1 through 68	LS	1	\$ 205,655.38	\$ 205,655.38	\$ 225,000.00	\$ 225,000.00	\$ 200,000.00	\$ 200,000.00	\$ 345,000.0	345,000.00	\$ 146,950.30	\$ 146,950.30
a)			BASE BID SUBTOTAL: Subtotal of Bid Item 1 through	ı 69			4,318,762.94		4,840,429.20		4,323,447.40		7,403,975.50		3,306,999.61
			Allowances												
2	b)	1511	Utility Relocation	LS	1	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.0	00 \$ 25,000.00	\$ 25,000.00	\$ 25,000.00
3	b)	1507	Materials Testing, Quality Assurance and Submittals.	LS	1	\$ 75,000.00	\$ 75,000.00	\$ 75,000.00	\$ 75,000.00	\$ 75,000.00	\$ 75,000.00	\$ 75,000.0	00 \$ 75,000.00	\$ 75,000.00	\$ 75,000.00
	b)		Total Allowances				\$ 100,000.00		\$ 100,000.00		\$ 100,000.00		\$ 100,000.00		\$ 100,000.00
c)			BASE BID TOTAL: Line a) Base Bid, plus Line b) Allowa	ances			\$ 4,418,762.94		\$ 4,940,429.20		\$ 4,423,447.40		\$ 7,503,975.50		\$ 3,406,999.61

	-	UNIT PRIC	E BID PROPO	SAL FOR: LOMIT	AS NEG	RAS PH	ASE 2				Bid	Opening 12-2	20-18			
Southern Sandoval	County Arroyo Flood Control Authority		Pat updated	21-Dec-18												
	Engineer - Smith Engineering Company		Engine	ers Estimate		J & H Se	ervices, Inc.		El Terrero Co	onstruction, LLC		First Mark	Construction	Sa	alls Brothers (Construction Inc.
BID ITEM Deductive NUMBER Alternate #	M Complete in Place - C L P UNI	EST. QUANTITY T	Eng. Est. UNIT COST	Eng. Est. AMOUNT	UNI	T COST	AMOUNT		UNIT COST	AMOUNT		UNIT COST	AMOUNT	UI	NIT COST	AMOUNT
DEDUCTIVE ALTERNATE 1 B	ASE BID	·				ļ									Į.	
	SUBTOTAL of Deductive Alternate 1 Items =		\$ 97,319.25		\$	125,291.25		\$	96,114.90		\$	108,974.25		\$	92,061.29	
	DEDUCTIVE ALTERNATE 1 BASE BID SUBTOTAL: Base Bi Deductive Alternate 1 Items	d reduced by		\$ 4,015,788.31			\$ 4,490,137.95			\$ 4,027,332.50			\$ 6,950,001.25			\$ 3,067,988.0
1 1503	Mobilization: Compl., Not to exceed 5% of the sub-total for Items 1 through 68 (exlcuding Deductive Alt. 1 Items)	1	\$ 200,789.42	\$ 200,789.42	\$	220,000.00	\$ 220,000.00	\$	195,000.00	\$ 195,000.00	\$	347,000.00	\$ 347,000.00	\$	146,950.30	\$ 146,950.3
a)	DEDUCTIVE ALTERNATE 1 BASE BID SUBTOTAL:			4,216,578			4,710,138			4,222,333			7,297,001			3,214,938
) h) 1544	Allowances	1	¢ 25.000.00	Ф ОБ 000 00	¢	25 000 00	¢ 05,000,00	ď.	25 000 00	4 05 000 00	Φ.	25 000 00	4 05 000 00	¢	25 000 00	¢ 05.000
2 b) 1511 3 b) 1507	Utility Relocation LS Materials Testing, Quality Assurance and Submittals. LS		\$ 25,000.00 \$ 75,000.00		\$	25,000.00 75,000.00		\$	25,000.00 75,000.00	\$ 25,000.00 \$ 75,000.00	\$	25,000.00 75,000.00	· · · · · · · · · · · · · · · · · · ·	\$	25,000.00 75,000.00	\$ 25,000.0 \$ 75,000.0
b)	Total Allowances		\$ 75,000.00	\$ 100,000.00	Φ	75,000.00	\$ 100,000.00	φ	75,000.00	\$ 100,000.00	Ф	73,000.00	\$ 100,000.00	φ	75,000.00	\$ 100,000.0
	DEDUCTIVE ALTERNATE 1 BASE BID TOTAL: Line a) Base			·			·			· ·			·			
с)	b) Allowances			\$ 4,316,577.73			\$ 4,810,137.95			\$ 4,322,332.50			\$ 7,397,001.25			\$ 3,314,938.
DEDUCTIVE ALTERNATES 1	AND 2 COMBINED BASE BID															
	SUBTOTAL of Deductive Alternate 1 Items =		\$ 97,319.25		\$	125,291.25		\$	96,114.90		\$	108,974.25		\$	92,061.29	
	SUBTOTAL of Deductive Alternate 2 Items =		\$ 326,276.25		\$	417,451.25		\$	322,238.50		\$	365,351.25		\$	306,564.22	
	SUBTOTAL of Deductive Alternate 1 and Deductive Alternate 2 Items =		\$ 423,595.50		\$	542,742.50		\$	418,353.40		\$	474,325.50		\$	398,625.51	
	DEDUCTIVE ALTERNATES 1 AND 2 (COMBINED) BASE BID Base Bid reduced by Deductive Alternate 1 Items and Dedu Alternate 2 Items			\$ 3,689,512.06			\$ 4,072,686.70			\$ 3,705,094.00			\$ 6,584,650.00			\$ 2,761,423.8
1 1503	Mobilization: Compl., Not to exceed 5% of the sub-total for Items 1 through 68 (excluding Deductive Alternate 1 LS and 2 Items)	1	\$ 184,475.60	\$ 184,475.60	\$	200,000.00	\$ 200,000.00	\$	180,000.00	\$ 180,000.00	\$	329,000.00	\$ 329,000.00	\$	146,950.30	\$ 146,950.3
a)	DEDUCTIVE ALTERNATES 1 and 2 (COMBINED) BASE BID	SUBTOTAL:		3,873,988			4,272,687			3,885,094			6,913,650			2,908,374
	Allowances															
2 b) 1511	·	_	\$ 25,000.00		\$	25,000.00		\$	25,000.00		\$	25,000.00		\$	25,000.00	\$ 25,000.0
3 b) 1507	Materials Testing, Quality Assurance and Submittals. LS	1	\$ 75,000.00		\$	75,000.00		\$	75,000.00		\$	75,000.00		\$	75,000.00	\$ 75,000.0
b)	Total Allowances DEDUCTIVE ALTERNATES 1 and 2 (COMBINED) BASE BID	TOTAL: Line		\$ 100,000.00			\$ 100,000.00			\$ 100,000.00			\$ 100,000.00			\$ 100,000.0
c)	a) Base Bid, plus Line b) Allowances			\$ 3,973,987.66			\$ 4,372,686.70			\$ 3,985,094.00			\$ 7,013,650.00			\$ 3,008,374.
MANDATORY: PLEASE FILL																
	as registered at SAM.gov (Initial to acknowledge):															
	umber for Prime Contractor:															
SAMS Number will be checked	for debarment and debarment shall be grounds for rejection of bio															
	- Unit Price Bid Proposal End -															
1																